;DUTCD Tie Down Kit 99914

2014+ Chevy Silverado/GMC Sierra LD Push Up Tie
Down Rear Installation Instructions

Congratulations on your purchase of a high quality PUTCO product. Should you
need any application or technical assistance feel free to call us at: 1-800-357-9261
Monday-Friday 8:00 a.m. - 5:00 p.m. (Central Standard Time)

Contact your PUTCO dealer for other quality accessories.

Please read all instructions before installation and to check to see that all parts are included.

KIT CONTENTS:
Description Q
Push Up Tie Down
Ya"-20 X 3 /2" SS Hex Head Bolt
Rubber Gasket
Ya"-20 SS Threaded Plate
Mounting Bracket
Stake Pocket Adapter Plate Drivers Side
Stake Pocket Adapter Plate Pass Side
3/8"-16 X 2” SS Hex Bolt
3/8”-16 X %” SS Hex Bolt
3/8” Flat Washer

Tools Needed:
- 5/32 Hex Key

- 9/16” Wrench

- Dremel

NNN—\—\N-hN-h—\q

Push Up Tie Down

Installation

1. Remove Push Up Tie Down kit from packaging. Verify all parts from above kit contents table are
included.

2. The front stake pocket holes are covered with a plastic bed cap. Using a “Dremel” or
similar tool, cut out the plastic covering the hole, as indicated by the molded outline in
the plastic bed cap.

3. Loosely assemble all the components from the kit as seen in Figure 2. The entire
assembly will drop in as one unit.

Note: Ensure that the adapter plate corresponds to the direction of the mounting Bracket.
Refer to Figure 1.

Driver Passenger

LIMITED 2 YEAR WARRANTY

Putco guarantees it's Stainless Steel and Aluminum products against defects in workmanship and material for as long as you
own your vehicle. All painted products have a 90 day warranty on the painted surface. Any defects resulting from faulty
material or workmanship will be warranted by Putco and repaired or replaced at our discretion. Putco assumes no extra labor
costs. Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.
Putco is not liable for any vehicle damage resulting from the installation of our Hood Shield.

06/8/2017 - PT 999141




;DUTCD Tie Down Kit 99914

1/47-2
Adapter Plate H::x B 0(:t
(Passengers Side Shown)
Rubber
Gasket
SS 3/8”
Washer
3/8” Bolt
T
1/47-20
Threaded ly
Plate /
Stake e \
Pocket
Bracket Inside Wall
of Box
Figure 1 Figure 2

4. Drop the assembly into the rear stake pocket as shown in Figure 2. Move the assembly
around until the Bracket lines up with the hole in the Inside wall of the box. Thread the bolt
with washer by hand until snug to avoid cross threading.

5. With a 5/32 Hex key evenly tighten the two Hex Bolts on the tie down making sure the
adapter plate and tie down is centered in the pocket.

6. Check that the tie down is functioning properly. Some applications require the 32" long SS
hex bolt instead of the 2” long bolt. Fully tighten all fasteners.

LIMITED 2 YEAR WARRANTY

Putco guarantees it's Stainless Steel and Aluminum products against defects in workmanship and material for as long as you
own your vehicle. All painted products have a 90 day warranty on the painted surface. Any defects resulting from faulty
material or workmanship will be warranted by Putco and repaired or replaced at our discretion. Putco assumes no extra labor
costs. Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.

Putco is not liable for any vehicle damage resulting from the installation of our Hood Shield.

06/8/2017 - PT 999141



